fhr BT ASBRT 2ARL S A HITRLER N F 2 A 4
-1 & 3 7;&
*g—%&(/‘&) &S mﬁ&rﬁ-i‘,&
* ik (/) Sor
ERE 3 A C.9) 1.2 77
— L1 R R A2 San
B~ BELE 50 fE
B (Lokgf/cm? (T = k£
2.22 4+ 0.24 X (M- 1))
EAY 3R E 3 UDn Iz
éﬁ#ﬂi’d\:})&i&'%}’ﬂ
Tlsec)= 0.05 * H 0. 75 (S/Fu)u
x| CHAE(TETEOWRY
R L e # Mkgt) = 1210 * (ot Aw)
2 TE AR AR = E L HR 2 9 + wer X Arr
(wrr)kgf/m? ‘"ﬁ_% *; 5 FH o " "
EEHE L _ .
2 e d | O | 00 | RS
%ﬁfﬁ 2 i
Wt F+E = B
Rt L] | 900 ¥ (ds)
Hi e ] R R
¥ (4rr)
- g = T oh 7]% J;J-
- s 1% <1 cm %o A LS N em?
*i_:l/ \ o ] 2 D (Am)cm
g /¥ (%*(7“') (Asa) cm (NC].) (Ac[ — Asci X /Vw)
4 5 - 18 | BAci
2 % %Ta 4 em’ (BAe s B (TA)kgf (T4 =
B = Z(B c1') ) ];CXBAE‘)
BE A cn gTm f o] 3
5 4k E > BT o FE
&5 & (7)cem X ?}g‘““ Yot [X® ’%éfrﬁvziéf (/im)cmz Y&;Z’m "
— (LWXI)CIH )i (LWI)CIH (AWX[ B " ﬁl) (AWI' = Luy[ * ]:u)
’]fg. Bwai | BAwa' |
F4 . Fadk 5 sk _ ‘
;'% X w Lﬁ"i’g %é._ Cm? BAWX - Z (BAWXJ)
£ |G o _ |
Y w Lg,,/_rg %?1:' Cm? BAW - Z (BAW}/J)
Y '?'q%éé)i(]%u}/)kgf(];}w = ];'c X B«Iuy)
# s 3 > 2 = :
S AR AR ()
s S L s PO )
L e = ROBE3 £htols)
) NN ECE N )
& o F) S o [ErAmAY [e1(10)
£ B 10 2 | £40.5)
3 FOAG B g D@ﬁ‘«(/l.O)
BAwP [3 E#0.9)
s |4 s 25D

w



23 He7 |J&a.0)
5 |iwp g x |[]°3(0.95)
B FF & >2 %% [E£0.9)
6 ARZERETH La s i (1.0)
AR [ JBE 3% 0.8)
DNEFF(QDQ=q X g% -+ X gy
Er: (TAU + TAWX) — ) . ")
R wt AL (B) |/ SRk T &= U + 1o [ S5
X ) * 70
mff%#(ﬂﬁ% =L XQ =5 X9 |
PR A B | _ % %




